Answer of Tutorial Problems
Tutorial Sheet#1

Problem 1. (a)
DOSI=2


(b)DOSI=1




(c)DOSI=3

(d)DOSI=6, DOKI=16



(e)DOSI=6, DOKI=21 Axially deformed, DOKI=18 axially rigid.



(f)DOSI=13, DOKI=32 Axially deformed,



(g) DOSI=15, DOKI=28 axially deformed.



(h)DOSI=0,DOKI=18

(i)DOSI=1,DOKI=5.
Problem 2 
(a) Defection  AND Rotation at A =0, Rotation at C=0 and Deflection at B both side is equal.                                                       

Tutorial Sheet#2

Problem 1 Rotation at C=-0.09, Vertical displacement at C=-0.314m.
Problem 2 (Figure2):MAB=-2.901 kNm, MBC=2.901kNm.
Figure3:MAB=1.5, MBA=-6.0, MBC=-3.0 and MC=-1.5  Units are in kNm.
Tutorial Sheet#3
Problem 1  MAB=73.975 kNm, MBA=54.983 kNm, MCB=204.98 kNm, MDC=148.98 kNm.

Problem 2 (Figure2): MAB=-95.884 kNm, MCB=-77.496 kNm and MDC=18.389 kNm.

Tutorial Sheet#4
Problem 1. MAB=0, MBA=-7.5 KNm, MBC=7.5kNm, MCB=-18.75 kNm, MCD=18.75kNm, MDC=-7.5 and MDE=7.5 kNm, MED=0.
Problem 2. MAB=14kNm, MBC=-36kNm, MBC=36kNm, MDC=-42kNm.
Tutorial Sheet#5
Problem 1 MAB=9.77 kNm, MBA=6.23, MBC=7.41, MCB=8.59, MCD=-8.59, MDC=8.59, MDE=8.59, MED=7.41 kNm, MEF=6.23, MFE=9.77, MBE=-13.63, MEB=-13.63 unit is same.
Tutorial Sheet#6
Problem 1 Horizontal Displacement at B=0.0048m, Vertical displacement at B=0.001m and Horizontal Displacement at C =0.001m.
Members forces: member (AC)= 0.5 kN (tension), member(AB)=0.5 kN (Tension), member (BC)=0.707 k N (Compression).
